EARAZROREIERT — 2 N—XBISY —F 2015F6811H (A) 6@E&ZHEIH

mﬂﬁC 8# C8 ¥5%—M (w8 | 1mEmml - |5 6) v s
[AE£] 1% 145,000 ~ 2%&:26,000 ™  33%&:10,000”  4%&:7,000H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N # 5 | RESBH 1:32.1 1-1-1-1 | 39.7| — 1 499 | FLEE (BEHE)
1188 | ¥—Ta— 254.0 5 o | EBIIER
LY v=Z>®5714L BOIINY2T14—2 LaFN el
N IITFHEZ :33. —5-4- 20 — 2 IR (%)
2 2 R XA=DE & % 5 b0 1(373)5 5-5-4-3 | 40 (5_013) (IEI)JPN?;EH
L:on7x BN ITUH— HE B—
: 3 4t 10 | A1L3AME 1:33.6 7-7-7-7 | 39.1 | — 8 435 | HBE— (BHE)
3|55 IAEFU-S> £52.0 (3/4) ) ) 772 hETa
AT T M F T —F— K BiALLYRY— A E%5
s # 5 | HERAE 1:33.7 2-2-2-2 |#1.2| — 5 492 | 1EMRIE (BHE)
a3 TVTIE—R 54.0 (7€) 8) ) IR hEvas
RPNy BhT1 BTATAIVHFRZR ZREAKS
i NAE :33. ~6-5- . - EBEA— (BEHE)
5 4| RANTNRAHZ A 1(733533 ooes |04 ! :1_7; (B) ®—Z457
R:7H4FALNEK B:THY z—/N— N=tie]
> 03, 4t 8 | DNEEFIME 1:33.9 3-3-3-4 |40.8| — 3 458 | REBS (BHE)
6l7|7 ELLrI1Ya> 54.0 (1/2) o) | B =257
L:d—IRAaqfO— B b—F-—H 44— Fif Fk
= H 5 4% 5 | BEXC 1:34.2 4-4-6-6 | 40.7| — 4 401 | BEEIEA (554)
71111 YHINYITHT A52.0 (11/2) (+5) #H) 71‘*;(;7
i F—TRTN=F B:UINy b Nipse]
5 o # 5 | ALE— 1:35.4 8-8-8-8 |40.7| — 6 422 | 1EMRRIE (BHE)
sff6| ¥T~17—R 54.0 ®) 45) W) 772 REvas
LX:A-—I>FU>r BiA—TvaTL—54 RS
® I —F—@EBIERL
13=zr= 8,3,7,1,2,4,5,6
Aol=5r= 8,3,7,1,2,4,5,6
G§a=7r= 8,3,7,2,4,1,5,6
43—+ — 8,3,2,7,4,1,5,6
[ RN
B OB 8 130H4 714K 2-8 150H B E 2-8 190H &R 2-5-8 1,870H
8 B 8 100M 5-8 880F B H 8-2 230 JEH 8-2-5 2,820/
2 1104 2-5 1,250H
5 490M

ABICOVWTRDTEEERROODE. TR LIV,



